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sin(a 4+ 3) = sin a cos 3 + cos asin 3

cos(a + B) = cosacos 3 — sin asin 3
ELomVEZ LS. = -8 &THIE, cos(—F) =cosf, sin(—f) =—sinf £V

sin(a — ) = sina.cos B — cos asin 3

cos(a — ) = cosacos f + sin asin §
b, Z04250KELVKROAKIIRHEND.

1. 25ADOAK :
(a) () IZBNT, a=F LBV Tsin2a ZRDZRIV.

Sin20 = 2¢;nol COSO(

(b) (2) IZBWNT, a=pLBWVTcos2a ZROL IV,

s 20l = cos*ol - S\'nzd

2. LADAKE : (2) & (4) IBNT, a=f BT,
(2) B RLEZTDHILICEST, cos?a®cos TRLAREW,

ws (& - B) + tos(4+B) = Lepsoleos f
of = P‘c?nt'l ‘
1 +ws20l = 2 ¢ps?o

(b)iBxBl&EETHZLICE-T, sina % cos THELARS.

¢os (vt-p) - cos(!h-ﬂ) = L0 sin B
of= B‘La‘l '

- ws2d =2Lsin*o



3. /&M - ZICEHT 0K
(a) (1) & B)ITHBNT, WARLEZTDHZLIZEST, sinacosB % sin TELARI .

stnfdl+g) + s0a(et-) = Zsinoltos B
(b) (1) & 3) IZBWT, WAF|&EETBHZLICLST, cosasinf % sin THELAREL.

sin(ats) = Sin o= B) = 2p5f st

(c) (2) & (4) IZBWT, BB LEETDHILIZEST, cosacosfB % cos TRLAEIV.

Ws (A 4P+ cos(d-B) = 2050l o B

(d) (2) & (D) ITBNWT, BB EHEETDHZLIZL ST, sinasinf % cos TELZ S,

Cos(#+p) = Gosot-B) = = 2si,0lsin B

4. f1 - ZEBICERTEILNX : LOAKXTa+8=4, a— =B B\,
(a) sin A+ sin B % sin & cos DFETR L2 IV,

SlnA "“S\qB ?.SM'A':"B’CDS-&;—B-

(b) sin A — sin B % sin & cos DFETR LRIV ..

SihA",';!‘nB = lCos A;B- Sim ZB

(c) cos A+ cos B & cos DFETE LRIV,

A+ wsB = 2 arg ,G_A_;,

(d) cos A — cos B % sin DFE TR LRI V..

WA - sB = -25,.,513. s A8

R



